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And when was the ruling of Rav Huna — 2%nR %252 X117 377 2208 92Y
stated; it was a general statement

OVERVIEW

The X713 concluded that X177 27 (who differentiated between 1o8» qwpi and WP
07X) is not referring to our mwn, for our mwn is discussing a case where the 213170
flung the 997 and it caused damage. X177 29, however made an independent
statement where it was a o1 YW 2°27. Our Mmo0In explains (differing with >"w9)
why "7 cannot be referencing our 71wn.
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For the ruling of "7 cannot be referencing our 71w%; the reason is because the
expression of 71"7 that 21 278 »wp indicates that the “wp is liable for the
complete damage -
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And in a case of ™M7R 77X, the 3907 Y¥2 is also 297 (not only the 7v1p). Therefore

our Mmwn which is discussing **17X 77X cannot conform to the ruling of 7"7 that by 7% 17wp the
WP is 270 exclusively.3

mooIn cites s""w7 explanation why 71" cannot be referencing our mawn:
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And >'"'w9 explained that 7" cannot be referencing our 71w, since in the case

of our 7wn (of MR 77X) the "W would be exempt from paying anything (only the

21317077 9v2 would pay a 1"n). The reason the WP is Mo -
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Since the 712170 flung the %7 and damaged, so that no one tripped in the 912 of
the 2wp.

! Seemingly one may ask that now that the 73wn is discussing a case of *TX 7%, the 73wn can conform to the ruling
of 7"7; when is the 21 11707 ¥2 a 1" if it was 1°28n Wwp1 (the rule of the 7iwn), however if 7R 1Wp the WP is
also 2>°11. Our MdOIN rejects this interpretation of ;7"7.
% The 913370 and the 7w both participated in creating this pri. There are differing opinions whether the 13370 pays
P11 3727 and the WP pays 2°pn mwHw (see X"wInn), or whether they both pay half (see X"2°7 owa p"now).
? Therefore we must say that 71" is discussing a case where it was a 772 *312 2393027 2, so the whole 211 is on
the " who made this 712.
# o1nm ROR 772,
> The »w17n did the entire damage.
® Even if we consider the %°>7 to be the 112 of the 2wp, nevertheless the 211 of M2 is if someone trips and falls into
the 712. However here the damage was caused by the flinging of the 117n; it is the 73170 who is the > through
MMNY, but there is no Pt of M2,
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mooIn challenges >"w1o:
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And there is a difficulty with >"v75, for even though he is not 211 on account of

713, nevertheless he should be liable because the 7°57 is considered his fire -
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For it is like his stone or knife which he placed upon his roof and they fell

through a common wind and they damaged while they were moving, where the
owner of the 1201 72X is 2n. The °%7 here is the same as 119001 112K.

mMdoIN responds to an anticipated rejoinder:®
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For the 2190 to damage with a 297 is considered as common as a common
wind, we know this is so since the X123 asked previously, ‘if the 2°5777 Hva did not

hide the 7°%7 he is a Y@D’; indicating that leaving the %°7 in the open is tantamount to
causing the damage, but if it is not common for the 213170 to damage, why is he a yw». This
proves that it is common for a 713170 to damage with a 9°97.

SUMMARY
>"Ww1 maintains that by »1X 77X the 2277 P is Mwd (for no one was 122 5pn1),
while N190I10 maintains that the 227777 2w is also 2°°17 since it is YWX.

THINKING IT OVER

1. Mmoo proved from the question of X7 Y19 MOYIER RDT °X), that it is like a mA
1xn. Seemingly the question of X7 yw15 i1s when we assumed that it was 12
M2 2302 932anna and it is common for 2°213170 to get entangled and drag a 9°%7,
therefore he is a yw1o. However by 7R 777X, perhaps it is not common at all for
the 91337n to be »17x 778!

2. Why cannot m»oin prove that 21370 is like a 7°¥n mA, from the ruling of 7"
that 2»n o7& 1wp?'!

7 See 8,1 2°v4.
¥ One may differentiate between a 7% M (where he is 21) because it is so common, and tying something to the
leg of a 711N, where it may not be common for the 213170 to fling it. NN rejects this distinction.
% The X3 assumed that he is a ywd for not hiding the 9°77, so certainly if he tied the 2°77 to the 111N, he should be
considered a yw15 and be 2°11 (as well as the 711077 Hv2). See ‘Thinking it over’ # 1&2.
10 See 80 # T *wnon XX and (PAWBK TN M) TR MR
' See (68 7yna W) 70 MK D71 M .
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